25000 ~

100

4

0 100 200

400

0 100 200 300 400 500 600

0 100 200
NGRDI
0 150000 A 0
100
100 100000 -
200
200 50000 - [
T et 0 100 200 300
=== (Gn_pct
| LIT ]
300 =e— Gn_pct | 0.00 0.25 0.50 0.75 1.00
=== _(Gn_pct
=== (Gn_pct
st Gn_pct -
400 ==o= (Gn_pct
Gn_pct
=== Gn_pct
=== (Gn_avg
=== Gn_avg
0 100 200 300 400 500 600 —e— Gn_avg
=== (Gn_avg
=—o== Gn_avg
=== (n_avg
=—e== Gn_avg
-0.150 -0.125 -0.100 -0.075 -0.050 -0.025 0.000 0.025 gn—a"g -
n_avg
7.5

GLI
0 0
125000
100 100000 - 100
75000 -
200
200 50000 - L,
=== Gn_pot 0 100 200 300
25000 ==o== (Gn_pct
I T |
300 0 _,-j—.— Gn_pot 0.25 0.50 0.75
-0.02 Tt 02 0.04
=== (Gn_pct
1.0 1 e Gn_pot 0
400 \ —
0.8 A —_—— Gn:pct
— 100
0 100 200 300 400 500 600 0.6 —
0.4 1 - 200
L - o 0 100 200 300
-0.02 -0. 01 0.00 0. 01 0. 02 0.03 |
0.0 - E _ 0.1 0.2
0.0 2.5 50 1.5
bin no
0 150000 0
100
100 7 100000
200
200 50000 - .
0 100 200 300
I |

300 0.00 0.25 0.50 0.75

0
400
100
0 100 200 300 400 500 600
200
B ] 0 100 200 300
-0.20 -0.15 -0.10 -0.05 0.00 0.05 %

0
125000
100000 4 100
75000 -
200
50000 -
=== (n_pct
25000 4 == Gn_pct
=== (n_pct
0 ‘F_._ Gn_pct
_ == Gn_pct
0.7 2P 001 0.02
1.0 = Gn_pct 0
0.8 ——
Iy 100
0 100 200 300 400 500 600 0.6 —
0.44 200
B 0 00 ] .l = 0 100 200 300
-0.005  0.000 0. 005 0.010 0.015 0. 020 |
r 0.02 0.04 0.06

0.0 -
0.0 2.5 5.0 1.5

bin no



